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PCP
A4/G4 H4 A5/G5
31-jan|2 entl/ce ak netl
3 entl/ce ak netl
4 ges ges/schk |biol
5 ges ges/schk |biol
1-feb|2 netl econ wisA,B,C
3 netl econ wisA,B,C
4 entl/ce schk
5 entl/ce schk
2-feb|2 wisA,B,C [netl ges
3 wisA,B,C [netl ges
4 schk biol entl/ce
5 schk biol entl/ce
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PCP
A4/G4 H4 A5/G5
27-mei entl
28-mei entl
29-mei|2 entl/ce wisA,B nat
3 entl/ce wisA,B nat
4 nat ges/schk |netl
5 nat ges/schk |netl
30-mei|2 netl nat wisA,B,C
3 netl nat wisA,B,C
4 ak econ biol
5 ak econ biol
31-mei|2 wisA,B,C |ak dutl
3 wisA,B,C  |ak dutl
4 biol netl schk
5 biol netl schk




